AR I I T — AR S

R AT AR IR BT

T L% F—2JLAT) F—L% |[F—L% F—2JLAa7 F—L% |
FAMN=Z"| 0 - 3 | f@EosST | |mumem@e)| 0 - 3 |=F/RELX
EF4A EF4A EF4A EF4
X 4 _ 6 HE 25 3 _ 6 fif] A
= JIl3% =2A B+t
K 3 _ 6 M ® 4 _ 6 ]
XF EE [SEN B
FiH 1 _ 6 ¥ ] ® 1 _ 6 B
H::Eas HhE =R H £t
F—L% F—2)LRO7 F—L% F—L% F—4%)LRO7 F—L%A
MPLKRFEB)| 0 - 3 |revst=az sy EmiE] |FIMRILKE(A)| 1 - 2 |BASARA cLUB
EFHE EFA EFA EF4
B+t 1 _ 6 ® R 9 _ 6 BA
El& T ik ®BEk
tH 3 _ 6 £F e+t 4 _ 6 J\H
EF el et} 1k
L 5 _ 7 #® pNIli 6 _ 4 F
EF B i) L
F—L% F—%JLRO7 F—L% F—L% F—%J)LRXO7 F—L%
TEAM SASUKE| 1 - 2 |zaz7=27HTs| |HBWEERH®) | 1 - 2 | ZEER
EF4A EFA EFA EF4
L H 6 _ 3 B ey 3 _ 6 &
FiE T 2alic] FAE
RiE 3 B 6 Ho Al f5E 4 _ 6 AN
F4H AH WA NS
L H 5 B 6 £~ P 6 _ 4 2
E 1 1 H FI4R EX




35 BIANAR T 7 0D X T — AR

FEAT SWABQr) BY

F—L% F—2JLAa7 F—L5L% |[ L% F—2JLAa7 F—L% |
SHEFELX| 3 - 0 T.GLF J)—>TC | 3 - 0 =HEH
EF4A EFA EF4A EF4
& s | - | 6 H PN s | - | 4 gk
HH R BT A
A |, | - | 5 |_&8 AH o | - | o AR
LS Bk BA INFE
RH 6 _ 9 B+t PN 6 B 5 F=F S
B4 B B A
F—L% F—2)LRO7 F—L% F—L4% F—4%)LRO7 F—L%
BASARA cLUB| 1 - 2 Y57 | |evsi=rrsvmE| 0 - 3 [54xF7=z7HTI—
EFHL EFA EF4A EF4
7 6 _ 1 SRR " 6 _ 3 0O
BA BHE ER R k4
%k 4 _ 6 J11 8% £F } _ 6 FES
J\H EE = #H
& A R I e Ba2X | em | - | 7 RS
£ hE =I5 AH
— B EMRIIMI T INNT —ARS
A AT T M (RESF) BF _ _ _ |
F—L%& F—ZILZX37 F—L%& F—L% F—ZILX37 F—L%
s4x7=27h7s—| 0 - 2 T.GLF n@mos7T | - 2 | JY—>rT1C
EF4A EFA EFA EF4
FES 5 _ 6 B+t BHE 9 _ 6 BX
FTH FJR JE U T3
) > | - | & EE Y 6 | - | 1 PN
] R B B ;
A H fTenY B g | ! 6 | i
__ BOIm IS INRT—AAS
RERIT W (ABE) BT —
F—L%& F—ZILZX37 F—L%&
T.GLF 1 - 2 | JY—oTC
EF4A EF4A
kS s | - | & KH
R AN
EEA 6 _ 1 A+
Bk TH
R >, | - | & RH
B +3




B ORI 75 I N T —ARS

A A7 il (AR OE) K7

F—L4A r—2J)LRO7 F—L4A F—L4A F—Z2JLR37 F—L4A
JHh¥<ITS| 0 - 3 |3427=27h7:—=A)| |M Challenge TA| 1 - 2 |Let's 72ATIHEER
EFA EFA EF4A EF4A
i 5 B 7 LU FR Eakal 6 _ : A
P LEIL L ER
NI 3 _ 6 fif] A o 24 : _ 6 UED]
e X5 WE $TH
LA : _ 6 HE Gakal 9 B 6 KR}
AT /L WE fHEF
F—L4A r—AI)LRO7 F—L% F—L4A = F—L%
54XF=R7HF-B)| 0 - 3 | FJy)y—>TC
EFH EFH EFH EF4
¥ : B 6 =%
N _
mE | S | %m= |
ik 3 B 6 T3
£ D =3
A AT S sl (ABLSFE) KT
F—L% k—&2)LXa7 F—L% F—L% r—A2)LRXa7 F—L%
MBLAVNTTC| 1 - 2 |5z Fzzmer-)| | F)—2TC | 1 - 2 |Let's TZA7FH IR
EFA EFH EFH EFA
TS 6 _ 9 HE ik 6 _ ’ A
iS253 XiE = ER
5 4 _ 6 L FR T3 2 _ 6 HE7
Pl i
\ 3 ] _ 7
oz [ K 0 6 Tt
A AT S Sl (RELF) KF
F—L% k—%)LZXO7 F—L% F—L% r—4%J)LAOT F—LB
Let's T2A7 79 ER| 1 - 2 |FARTZRTHT (A
EFA EFA EF4A EF4
UED) 9 _ 6 ] A+
= S
HE _
i H ! T |
A 9 B 6 IR
AT FEXO




